Gl

X il Hl

ATG REDUCER

ATGLAES ﬁREEHﬁ

Wisdom Made INATG - Wisdom The Wor




55 TS

ATG REDUCER
X B ixifbiRHI

RIENZ L HISE

Reducer professional manufacturer




il RS iRy el
KR Fi, B M.

/

Tl T T LR S A0 3 o WbE ST el 8

e

EPERELT ExIREFN APEE, FE- - J
-

Tons TR R S Al SR (F RS B WL W R p i TR
At BEESE, TF. FLOER . EEEE . BT,

’ e e L] L]

&c:

b a

(85, RhEALRE CEITRAREE TR LA,
o ;Hﬁﬂﬁ’ﬁ%ﬁﬂiﬁ ITE,
o, ame SRR s A
,Bil— 7, - i
& =T E TR 5, ME\TSEEREE.
§: {ERLLFESE, | Sl

2
v

v SRS B S S SR S RN RER T 18 1T i IS L

ATGENS =IX=ELR



Wisdom Made

INRATL

Wisdom The Warld
ATLRAEIS, B =

(o} e

ATG REDUCER
BTAERS L HA




INTRODUCTION

pEERlMBELRRLE  DHTELNERRLINETESESNE  EHNMeIZT1I972H37,# T1989
FHREEELNEISAFATRUMPMACHINERYING, | 19956810 78 & A BIS00900 21\ E , 2003Fi2i71509001
FRIAE , BifFEHCERANENE , EFFaELEENEE  SSRTHETERKIFTFRRELE | BilEH£Hs0
B

B REFRLAEINESHENERAEDIARIRIESICEEY , BFEeamE]  TRELAENSET. WA,
47, EFEEAHERFINTRREESMBNER  ARBTEREENARITE. SIMBORALMEHRTZE
AE 75 R3S,

%7 [HRS—. EEaEsl B (8. @ 6] meEEs  FHRaS LA , FEoaneEfa—fEEl
REEEANREAL. ATLURRSTMER  FESHAHNNEEE  THTNEERE RUEREFNMELNWY.,
IEEXFEFHEXETENFEEREEYE  ARTAISIHESI SRS ( HFSENEERLE  DISRAERE

AEFBWRR.

ATGLEIS FX=HR




ABOUT US
T HAl]

Taiwan JunYi Machinery Co., Ltd., Suzhou thousand Deyi Electrical Co., Ltd. under
the Taiwan JunYi Machinery , JunYi Machinery was founded in March 1972, and in
1989Established in the United StatesLos Angeles branch ATRUMPMACHINERYINC.,
1995 passed the Commodity Inspection Bureau 1509002 certification in 2003 through
the |S09001 Quality certification, and through the European CE test specifications, so
that products can be sold in Europe, deep acclaim and won numerous awards over the

years in the export market, global footprint 301 country;

JunYiCo., Ltd. specializes in a variety of high-tech gear motor and helical gear
reducer, worm gear reducer, planetary gear design, development.produce. In recentyears,
shouldering the customers on product quality and price of the pursuit of continuously
improving high-performance gear, and maximize efficiency and provide a wide range

of technicalResources and other aspects of making unremitting efforts.

The company pursues "quality first, customer satisfaction" and "diligence, honesty,
trust" business philosophy, and constantly recruit professionals, so that the company
always has a master industryScientific and technological talents of high-end technology.
Companies with a positive and pragmatic style, learn advanced management experience,
and constantly self-improvement, and establish a good corporate culture. nearResponding
to future years and the importance of the Chinese mainland market, so the continent,
Jiangsu Provincial Branch (Suzhou thousand Deyi Electrical Co_, Ltd., the mainland to
supply the majority of passengersHousehold needs.

] e
ATG REDUCER
SIS TR ]




TRV
—iRAY4

ATGLENS =IX=ELR




Production

T m A CSS =
Each product, We are all made by heart




wLMEE
1 LATREE.




Testing Equipment

i 12 Check in heart, Quality in the future

ATG REDUCER
U TR Ml ]




Heat Treatment

A TE

HEHTSEEEHARERES ORME | TEMEE | BEER
DEOLENELT  GEEESEE.

Unigue vacuum carburization treatment has the features
of high surface hardness and interior toughness. It is hard-
wearing and hard-tearing. It will keep good engagement under

heavy loading,

‘Eﬁﬁﬁmi—lardenahlllry curve #iBERE R Metallograph

mezz High Precision
= = Gear Machining

I +_‘l| 1] 1 .
D) BRESRINT
FRERRAINEECHHREERZ BEEA SFSNCM220) T

BIMTE , MRt RERES7~60HRC M7 HMEFAR . BN
RWEEDINGELIA , LERWEEOECLE | BEREnh SR

||

A . SoNk,
,' = W The planetary gear and sun gear are manufactured from
} \ | high quality NI-Cr-Mo alloy steel (SNCM220), precision
P I P s e S [ machined and carbunzed to hardness 57-60HRC. Precision

teeth grinding assures gear accuracy reaches DING class. It
provides better wear resistance, impact resistance and longer
service life than gears with only surface nitrided,

ATGEEIS F[IXEDR



0C Management
ﬁ E % iE Pawered byt




ool iGNz

HTG




THE PURSUIT OF EXCELLENCE

CREATE A WORLD BRAND
B3RS HRE QR RS

150 9002008 150:14001°3004

China Compaulsory Flanetary Grarh & ad
Certification (CCQ) PHL Serics
Chirna SIPO Pabent

NE. &2 0. 69. HE. T2K. 8. SF0E. FTNEYEENEZS
The United States, European Union, China, Tahwan, Karea, Philippines, Vietnam, Malaysia, Singapore ...etc.
trade mark certifications.

520|075

ATG REDUCER
ST T R




ATG REDUCER sz s
S RIELE
GEEYD

REDUCER PROFESSIONAL MANUFACTURER

ATGEE SEL2HE  WWW.TWATG.COM

® PLANETARY GEARBOX OPERATION MANUAL FEIURIENIF(EIRIEHE

1.NOTE EE2#R

1.1 Preparation before installation Z¥EE#EeE

B FRATEAE BERIEE  SEANERE. JF
FRASRERAREELEEEMEHNFREAR
7, ERENERERE B RASMIEMNR
W RERERET ZERAIIREEEHRELE
RITRIBCE R S PRIERRIME | S 2Tl FHiE
HEESME , HUEE | mFiE,

Please read this operation manual before using this

gearbox. Any problems caused by inappropriate
operation contrary with the manual, or damage

caused by natural disasters, or restructure the gear-

box without our permission |, Junyi will not hold
any responsibility nor will the gearbox be cover by
warranty.

FRARANFRERMENIBEFRE—FA | RE
HRA , EraBfEANEENaE8E  SPE
FmEFR  ALERBERSHREM

Warranty start within one year after purchase the

gearbox. Within warranty period, if gearbex damage

is not caused by operation error nor by natural
disaster, then please send back the gearbox, we
should replace the damage.

m Eiz 2R, FH. FFE AT UEAARS
s
Installation, disassemble, maintenance on the
gearbox, needed to be performing by trained
technicians.

BRI RMRZIBERN  KERESER T A
HEESHEEERS  ERTSRIENEEE
DEEHAREL,

According to the application and operation
environment, the gearbox temperature might be

raising after period of running. Please do not touch

the gearbox directly during operation, or right off
from operation.

B R EA (ETEES R 2B | REE

TREEERFLHFNENELEE , LIk
bkl 80 LT DA S o

Do not touch any rotating components when
the gearbox is running. Ensure that the plugs
of the gearbox were inserted after installation.
Avoid any small object fall into the gearbex.

B EARES R  TREES | BEL

i E TESEEENAE  LOER S
IERIRE.

Handle the gearbox gently during installation,
do not knock the gearbox by any tool, to avoid
the influence of running accuracy.

w SRR TSNS , FNFETRER

{hELiE AR F = .
Do not disassemble or modify gearhbox to
prevent injury or equipment damage .

» AELAEHLRI , AREEETERS

s O s 5+
Synthetic |ubricant is sealed in gear there is
noneed to change lubricant.



ATG REDUCER i isns

XiEEEEN REDUCER PROFESSIONAL MANUFACTURER

AT HIE BESE WWWITWATG.COM

1.2 Installation environment limitation 1SR

AR SAEETIFRAERE, FHOTIZEEFRTRERRERSRNTNESR, FHEFRELEEM,
Gearbaox must be installed under following terms to prevent damages which are not covered by
warranty.

B AT RETHIE  hERERTREM » B R RN ERT SRR S 2 RS,

ZHMISEL. Avoid Gearbox used in flammable gas or corrosion
Gearbox is designed or manufactured, to be gas environment.
used in the other of mechanical equipment

m RE - ARTERIEE5% , LUBRKSES.

assembly,
Humidity: no more than 85%, in order to avoid
m FEERRE-10°C ~ +90°C, condensation,
Operate temperature is between -10°C to
+90°C. B ERIENEEN  RDRER,

Avoid direct sunlight, dust accumulation.

B SE  FEBTEFEI000aR. g i
Operate altitude may not be higher than 1000m ™ M R B SRR I

abipie Can s Avoid water or cil splashed.

m BRESIERIEES. n (T RIFENZ 3.

Avoid continuity vibration or hit. Used in good ventilated place.

2.Gearbox Introduction siEinfe

FEN A ANDRSHAR . ADRRTZEAR
Sif  HOBETEZEERBENNESEE,

As shown below, the input side is for installing Input
the servo motor and the output is mounted 2ohu

to application equipment.

ATERSH N 5 SEIESIA LR b R
8, EEARSENOEP | ERFEREE
W IR | eI Ik,

Ta ensure the product perfarmance, both the
input and output ends must be protected
carefully to avoid any damage and cause
improper operation.




ATG REDUCER wisin = aliss

YistSEliEYl  REDUCER PROFESSIONAL MANUFACTURER

74

® SELECTION OF THE OPTIMUM GEARBOX

ATG HiE HESIE WWW.TWATG.COM

Matian Prafile

@ Caleulate the Batia iFg 2
Caloulate the Batip ilEg.2) | Cakuizte the Mean Dutput
— A

" Calculate the Mesn Chput
Torque T, (En.3

Calculate the Max. Acceleration
Torque T, fE94)

Oufput Speed  Loads on Output Shaft Gulput Torqus
I'ﬂ
=

1 t:L fﬁ-.-

3
i~
i

E ; 1 i s
1.ED= —= % 100%, 1, =T+t +1,
! R

Caloulate the Max, Dutput Speed n,, [rom]

It Acceliratianpgifonstant,
-5 1 - Pause Eq.1

select s Emaler Hatiz | in  Gelecta Larger
Larger Mol il Meeded Gestbok T

= “‘.‘
ok

n,, Output Speed of the Matar
A_.. Working Speed Eq.a)

3T =3|l Ny XX T X M Tty e, T
o

Eq.3)
4T, =T =ixfxp
Wheret is
~ Caleulete the Mean Radsal F__and
oads F,_on Output Shatt of Grarkor (G 5
Calpulate the Fermitted Radial F, and
Aol Lemarde F_, o OutpUt Shatt of Gearbeg
T, Max Output Torgue of the Motor
Select 8 Larger Gearbex or 1 Efflcency of the Gearbox [Eqd)
other Gearbox Series
Select the Required Backiash and Shaft Optinn S, M=y = % xn,
Crder vour SESAME Gearbioe n,. N, Xt4n, Kt 4N, Xt
RIED
= i
== Eq5)
Recammended (for 55 Cyele Operationi BF,_ =3 my b F fn, Kt RF, Lm0 2 F,
Thie -:I:'Il'i'f.ll design it e lor Ihe aptimmal detilggi 15 giver fo Ny BEbn, LA xL,
| - 1 4 Load inartia
|_ 4181, T 1 Merar Incita Fn_-!’ by %L %F, %N, <1 RF, M e F )

L n, KA RN AL

{Eq.8




ATG REDUCER i< aliss

SIS REYL  REDUCER PROFESSIONAL MANUFACTURER
R

AT EIE BEEE WWWTWATG.COM

® FLEHRIER

R (e B S e B
£y Y
CEEE

ek v Jo]R

T - 2 . o

Y .

=,

N, Dt

Moo bl PRI ot

3T =3I' e T Vaemy deg e, by e m T
.
n, Eten, mtan st

Eq.3}

A.TH—'I'_Ixixt = f

1, REEEE

T, SHEAEIRHE
N AEUEEAE Eqd)

Ln
=

R |
3 k-hH-T){nn

- I'Ih = t_+ n, b !‘+ "lxtu
" L4t +1,

ke Eq.5)

6&F =% tl_hxl.HFhlﬂnkHllIFh’i-ﬂ'Kl"kFx‘

e AL RS I i L o RS

Mo X R X b X
i
JI . F_ = Ihax'1“F-1-'“"u“‘=“Fa<\+'a’“a“Fu'
' 2w
| n, WL, K40 K

fEg Bl




ATG REDUCER wmumie i iam

IS EREN REDUGER PROFESSIONAL MANUFAGTURER

AT Hif BR£IE  WWW.ITWATG.COM

® CODING SYSTEM ESENX

P
G

L

GX

BL
KS

KS
60

30
Pl

|
MOTOR

SB

TEIURIRA (Planetary)

ST (Grade)

FESHEER

(Connection]

H: frEEEER Premium Type Helical Series
G¥EZER! Precision Series
E: ZCHRAY Standard Seties

L: A% Square Housing with Flange

C:EfexE=m Round Housing without Flange

E: P4 %= Round Housing with Flange

Fi El&%SER Plate Type

H: TR A= EaaE (ERTHRCREITEIVEREN )
Sguare Flange Helical Gear ( Square Flange Helical Gear
for G Grade (Precision Series) Only |

RH: Ef#15E Right Angle Helical Gear

Fr: Bl S E i Oalput Flange Right Angle Type

(IASEZRS)

HES (Size)

iRCEE L
[Speed Reduction
Rattio]

L% (Bockiash)

X-EERENSEEE
BL IS mimimn Ry
KSB:#4 thde it 8
KSBL: S ¥AimmnE
SB:# AL o e 2

42: 142 50: 160 90: 190 116! 1156 142 142 180 180 220: 220
B Single Stage.3.4.5,6,7,8,9,10

W45 Double Stoge:12,15,20,25,30,35,40,45,50,60,70,80,90,100
Z42 Muti-Stoge: 1251000

PO ABFE B LR Micio Backlasn

P1: $5ESEER Precision Backlash
P2, ¥R AW B Standard Bockiash

$ETkEIE [ Custormner Specification)

LA T2 (Motor Model




ATG REDUCER i isns

XiEEEEN REDUCER PROFESSIONAL MANUFACTURER

AT HiE BHESE WWW.ITWATG.COM

P DiESREIEESTE CONNECTION OF MOTOR & GEARHEAD

EL=e

. m ATy
) =

TR T FOETERNL G A EEE
FEF—Ram g | BRELSRT

Use difterm ¥ Dol Y the= customers iequetl, we micy spaciol
clifeen] rmolo-snol process (he cormecion halks whees e
peackst indns tha mioiot.

» HIFH, WERHE. NORSDEREESE  BFRSTEIARISSE | LSRR,

Aftet thea colior, thea lowsh, ond the iInpld-shetlt die secutaly depestricded with the tohol plecdse ioln the pors vith e jploifrstcong
gadiitead caulioushy wih a sliight clockwa and fol countal-clocksss mmation, urel e plonetory gaeoiheosd sigoges ne
rpu-shaft.

» EIEMHEREET | SR BLre™R&E— oo 0k E | LB

Undai tomtal G o lading, el pedUels ooine Wit o phievact o 30000 hergr Eenhadd woerest oy, whicheves Sremen st

® FILLIN DATA OF MOTOR EFESEH

o
£
=
L]
it
Motor [L— L —
- £
a0
Lk a
Motor Lael: ‘L ;
s -
Maotcr Model: 2
1o
c OH
» Hii% SPECIFICATIONS
Motor Maotor P.ED Motor  Actual Length
shatt | FONES | ghogy  OROE of BOIS  Flange of Backlash
D < Lercih =g Bore ’ Square  Mofor Shaft

LA AOSIME Rkl LAOSEE Wuerlhods Bgfl RS SGkERT DasEidc ERm

aA(hé)  eB(h7) C D 2E oF C1H L POPT /P2

+ SLEMEFTRENENESEERAEIT . RIESSEEARENIRELRE | SREAMIE RS
BT M | ([EiSET.

#JLUNY| Planetary Bearheads are produced under strickly exclusive pairing process to ensure accuracy

and lifezpan.




ATG REDUCER wmumie i iam

IS EREN REDUGER PROFESSIONAL MANUFAGTURER

AT Hif BEERE£E WWW.ITWATG.COM

ik / PRODUCTS OVERVIEW

F=ElS S /products features

EETE20REFNERLFIeEMERF—HELANTS | S TEMRM TR | BELITF—BEEEa:
L{ERE: {£F65db.

2 EEsEr BREHA oA |, WEEASIISA.

3. EwhEE: BERTNTEOS WLl F | SRERSITO2%LL .

4 Wi FEiE: SIiE8000RPM,

5.RTHRE: (iR T R R AER.

EE.EEETE: EASEESTHH | B2l | EREEEE , TRERESRE R ES SRS
TSk R ET |, (TEISHETEEESS | kel 1/10000LE,

Precision planetary gear reducer is a new-generation of product developed by our company,with a compromise
of advanced technology both &t home and abroad,its main features are as follows:

1.Low Noise: Under 65db.

2.Low Backlash: Backlash is under 3 arcmin_Backlash for 2-stage speed reduction is within 5 aremin.

3 High Efficiency: Efficiency for 1-stage mode| exceeds 95% ,For 2-stage model exceeds 92%.

4.High Input Speed: Input speed allows for up to BD00 RPM,

5.High Torgue; Higher torque output than that of conventional planetary gear reducers,

E.High Stability: Employs high tensile strength alloy steel.Gear hardening is made for the entire gear instead of
only surface hardening,which extends gear service life and maintain high accuracy as new after a long period of
operation.

7.High Speed Reduction Ratio: The gear reducer is a modular deign.The planetary gear box can be

connected Speed reduction ratia is over 1/1000.

7 iafig&/Precision usage

FEET RN AT LU TS -

LinZEinR, R,

2EFIE. BT AR,

ITAHEEA. ML, SEyRRhEr k.

4;55H0E. BiE. M. B8R, a2 IMETE eRliRS~L.

Precision Planetary Gear Reducer is widely used in the following domain:

1. Aerospace, military industry.

2. Medical health, electronic information industry,

3. Industrial robots, Production automation, CNC machine tool manufacturing industry.

4. Motor, textile, printing, food, metallurgical, environmental protection engineering, warehouse |ogistics
industr.




ATG REDUCER i isns

XiEEEEN REDUCER PROFESSIONAL MANUFACTURER

AT HiE BHESE WWW.ITWATG.COM

FmiFtt / PRODUCTS FEATURES

e EEALECEN  ER-S4Ek FIMANSYSEA AR ERHTERTS

HE | AT R AT R A #r A SRS ERSEEE | LI
R A LA | 1IN R
il

PGHERZ6)

BHTRERRA—A (W= ) L DE
it IERRKBESHTEER TR
SRl | LU S 0 S AT
e,

HESHHRERA—-EkiR . RERE

#iH  SHEREE | WSS e WARSHEEEER ML R | NS
B, —ikieaireRibna /L E RS —RE M | AR EERIE R | e
DIzt SEREARI, RELSENE MR , SRR

IEEEESRRETNEE. TEMETEEREnEE.




. ERREERIE NS

RTG

ATLEIS SX=HR




SERIES

WISDOM MADE

IN ATG

WISDOM THE WORLD
ATG Hiz ER£EK




ATG REDUCER whstn<ibsham

WIS F#EYl  REDUCER PROFESSIONAL MANUFACTURER

AT Hif EE£H WWWTWATG.COM

U 21588 / MODEL ILLUMINATE

e - TN - ET

FEH B

PGLAZ/PELAD/PGLIO
PGL11S/PGL14Z /PGLIBO/PGLIZO

SETE
B G

. i

| T L 24,57, 210 i o il m
TR 12,15, 20, 25 30, 35.40,50,70, 80,000 |
i ]
£

i

— i

HEAE6: PGL90-10-P2/SABEMHMD-082G1U

© FILLIN DATA OF MOTOR BFRIRSHEH

. {4-907)aF
2 »E
{ i
. qgf - T ®
’ (I ! L
51* A LY \'.
Motor | B o / RN _\"} \
=5 | I - i T E Tl
Motor Label; _| i l\. { \f_if' /._,-' i
=lysi e ¥ . | :
| Motor M-‘;del: L E) "m.;_l_...ﬂ" @/
o — ey
.= OH
B % SPECIFICATIONS
Mator Maotor P.C.D Maotor  Actual Length
s | Fdes | gae | fkbge of 8@ Flange of Bocklosh
Dia, ' Length g Bore ' Square  Motar Shart

Likhhiz DA DEAE Gobghicll Do MMimEr fRerlhOi MR AT LiERT  Diagsans EREM

@AhE)  @B(h7) C D oE oF OH L POP1 P2




ATG REDUCER whenE - iidrs

TISEENHENL REDUCER PROFESSIONAL MANUFACTURER

ATG Hif HER2I

WWW.TWATG.COM

HEHEREEH / GEAR BOX PERFORMANCE INFORMATION

PELE0 PGL115 PEL14Z PGL1ED
3 24 55 130 208 342 R4 1.140
4 5 50 140 230 5432 1.050 1,700
, 5 22 B0 180 am 850 1,200 2000
; 7 19 i 140 300 880 1,100 1.800
] 17 45 120 250 500 1,000 1,600
_ 10 “ = 48 40 000 390 0 520 4220
12 20 55 130 208 342 SR8 1,140
15 20 55 130 208 342 SHY 1,140
WEREAET,, Hin a0 ia 50 140 230 542 1,050 1,700
2z 22 1] 160 Kk 850 1,200 2008
an 22 B0 160 KEL] 550 1,200 2,000
2 15 2 ] 180 330 50 1,200 2,000
a0 2 B0 160 RET] 550 1,200 2000
)] 23 80 160 3 550 1,200 1,900
70 18 35 14D 300 550 1,100 1,800
a0 i7 5 120 280 500 1,000 1800
100 14 23 48 140 E ] aZf 12
BARYNET, N iz 3-100 MEEEREnE
HEHAEEN rom f2 3=100 5,000 5,000 4000 4,000 3000 3000 2000
BEEAERN, rpm 1.2 3-100 10,000 10,300 8,000 B8040 5,000 B, 00 4.009
1 3-10 £3 B i <f £H =5 56
TEAN Pt bl S 12-100 <5 EE sg sk <h <5 A
- . 1 3-10 5 < s =R 23 =8 <8
wRAN P2 wanl s 12100 <7 <10 40 <10 <10 <10 s10
Mishs Wmisremn 1,2 =100 3 7 14 25 kil] 145 225
FiFEEAF, N 1.2 3-100 780 1530 3,250 B,700 3,400 14500 50,000
FEEAF,; N 12 3-100 350 530 1,300 3000 4000 5200 35,000
BElEEhF,) 7] {2 =100 350 765 1,625 4,850 470 1250 25000
EATE hir f:2 1100 20,900 "
1 3=10 26T%
BEn & 3 12-100 2045,
1 3~10 0.5 1.3 a7 1.4 145 29 48
Ll by 2 12-100 0.8 18 4.1 -] 175 3 &0
ERER e 2 3-100 A0 C=+00°0
] (¥ 3100 SRR HE
fhirad fi2 =100 PSS
GEEH t2 3100 EENA
B EE (n=2000rm) 8 iz =100 <5E <58 <50 <53 85 =67 =70
LERERRE

PaL42

PGL11S PGL14Z PGLIED | PGLZ20

PGLED

HaHHER

ki - em’

FLk k] =N, IN ]
EREEMEEATEI S~

.03
0.03
0.03
0.03
0.03

003
0.05
0.05
0.05
0.03
.03
.03
.03
0.03
0,03
0.03

o0z

0.6
0.74
0.3
013
043

0.3

LIRIE]
0.03
003
003
.03
0.03
.03
0.05
0,03
0,03
0.03

a4

0.51
0.48
0.47
0.45
.44
(T S
0.13
0.13
0.13
6.13
0.18
0.13
{13
0.13
0.13
0.13

3.25
T
2t
2.52
2.58
257
.47
0.47
047
(.47
.47
[.47
0.47
0.4
D.44
D44
D44

i
a7
AT
2.57
2.a7
257

28.38
2387
2329
2248
22.59

23351

742
742
742
.42
742
742
742

.03
7.03

.03
[A L

2 S eT 100w M, ERTHbESCER

_50.55

69.61
54 37
53.27
5097
50 .84

23.29
23.23
23.79
23.29
23.73
23.29
23.79
22.51
2251
2251
22 51



ATG REDUCER whstn<ibsham

ﬁﬁﬁﬁﬁm REDUCER PROFESSIONAL MANUFACTURER
PGLEFR y ATG Bif EE£H WWWTWATG.COM

ARG LHZEFERDRERD

REDUCER OUITFUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE

f —_
[
§
A AL TR E 2 RA R ARG S, WLAEE
& _' ------ PF g, R R AR T AR B A 5808,
HEEREBAMBERIMERE.
F, E@mh —
R -m—n

'SFJH:‘I?%H:’: F.\-u [ N] mﬁ'}‘ﬂiql‘b{ﬁ

100, 00
80,000
40,000
ol
20,000 ~ Pel2ig
10,000
6,000 ~ PGLISD
4,000 - PELLAT
~ PELLIS
2,000
/7~ PGLED
1,000
~ PGL&ED
PGEL42
00 :
in 0 a0 &0 100 200 400 BOD D00 2000
i mES i n, [ rpm ]
PCL42
— PGLS
- R
PGLI1S
PGLIAZ
PCLLAD
- PGLZ20

a 40 an 120 160 204 240 280 320 350 400

EEAEDEE X[ mm]
HEEIERRE T e —




ATG REDUCER wustn% - slisrs

Ui EIENL  REDUCER PROFESSIONAL MANUFACTURER

SMizRTEZ / OUTLINE DIMENSION SHEET

ATG HIE HEREE WWW.ITWATG.COM

i AT INPUT R OUTPUT
15
i 655
L 105 4 42
— |
21 ¥ ! &
O
< % =21 — 1 ___,-__.%I‘;q
10 E 15 5=
—H = [
410 5 5 an
B INPUT i/ OUTPUT
179
i 93
2 a5 ' 4
i |
= _2_ 1 L/ ! &
O
" RO N 8 MR
S E =t | I R R %
& L : Ll a5 &
] B [
. -1 k|

W EE/ Output Diameter

§HE, 51 WA S2

MRADREREY R IREEPEEREEM.
“The input motar specific dimensions could be customized




ATG REDUCER misin s

WiSEREEN  REDUCER PROFESSIONAL MANUFACTURER

ATG Big EES£H WWWITWATG.COM

YMiZRTEZE / OUTLINE DIMENSION SHEET

PGLG0-L1

HIAGHS INFUT HitHES/QUTPUT

Ca

C7

W - S
sk INPUT - B/ OUTPUT
' F_ Y 3
i1l
I
e | _ |rTomrae
_____ ____1:_E*3
| il ocw
I | == !
| -

EHEE Output Diameter

G4 c2 Cc3 C4
O70 4-M4x10, 4-MSx12 @11814 34 950 5 i
PGLGO-LL

@30 4-M5x12, 4-MeEx12 D13 4 @70 5 &0

PGELEO-LZ G700 4-M4x10, 4-M5x12 @11914 34 @50 5§ B0 108 144
‘CI-CTRLBIEEDEEEN> R TEETFERR A,

* CA-CFare motorimetric standard) spacific dimensions, which could be customisad -

R
Y




ATG REDUCER wustn% - slisrs

RS RIEN

REDUCER PROFESS|IONAL MANUFACTURER

ATG HIE HEREE WWW.ITWATG.COM

YMIEZRTE / OUTLINE DIMENSION SHEET

o AaEANPUT

cr

[#)

PGLo0-L2

A INPUT

c7

LS P
] ¢
et

022

_ MBx! 0P

e Cﬂ -
L a5 ca ]
% B
i - i |
M2 1
_________ vl
= ] i &
§ et — B
- Ll ce
1 R } 1
10, cio | L
o |
[
475 Ca
T
| 3 B
—{— — "\
425 = ]
b | = 5
“...'.ﬁ? 206y S R T '_8] E
S 1 ce l
14 __l L
— | l_:?’ ) -
ol 218 TS
L ©C4 |

g

Hisg/ OUTPUT

il fOUTPUT

200 4-M5x12 , 4-Mexl2 44 ©O70 7 890 885

@100 4-MEx12 @16 44 ©B0 7 90 985 145 7
PGLADL1  ©115 4-ME20 919022 s5p @95 § 100 1045 152 13

P11s A-MEIS B19@22 g0 @95 B 100 1145 182 23

o145 4-MEx25 @13.022.824 60 ©I110 & 130 1145 162 3

570 4-M4xl0, 4-M5¢12 P11P14 34 P50 5 &0 117 1645 55
PGLO0-L? D90 4-MSel2 4-MExl2  B19 4 D70 5 B0 127 1745185

2100 4-MEx1Z 16 335 @80 5 86 1715 169 10

'CI-CTRAHEETAERN T Rt TRETPERQh Y.

* CA-CYare motor{metric standard) specific dintensions, which could be customisad




ATG REDUCER misin s

WiSEREEN  REDUCER PROFESSIONAL MANUFACTURER

PoLE R ATG Bif HESH  WWW.IWATG.COM

YMiZRTEZE / OUTLINE DIMENSION SHEET

PGL115-11

BAR/ INPUT i $HH/OUTPUT
65 ci
ci
' g 51 ho
]
] = 2
i M B :
5 g b — R
25 | 2 4 ™
| |
' e
o
4
N/ INPUT & i /OUTPUT
B Cca
51 0
i 5 4 =" %
Loall 'T
E T — —.;\:_ —Fi
: e e R[S E I
Cs

=
]

..2:'.»_|_2..__. _’ =

C1a

b G o

</Output Diametar

c2 C3 CB|C7| Ca8 | Co [C10

s @145 ER T plo@I2 @24 655 G110 11 130 135 2000 19
2200 4-M12x28 B35 #1 1143 6 180 15052155355

290 4-paSxkl2 | 4-MAx1Z 019 4 0O 7 90 146 211 &

2100 4-MaEn12 016 44 PBD 7 80 145 11 7
PGL115-12 @115 4. MBx20 Pla@z2 S0 995 8 100 152 217 13
B115 A-M B35 @19@22 60 @95 B 100 162 227 23

@145 4-MExn35 P19922924 g0 GLI0 B 130 182 227 23

* C1~-CTE R ik > R ATliE s P R e e i,

* £1-CFare motorfmetric standard) specific dimensions, which eould be customised,




ATG REDUCER wustn% - slisrs

Ui EIENL  REDUCER PROFESSIONAL MANUFACTURER

ATG HIE HEREE WWW.ITWATG.COM

YMEZRTEZ / OUTLINE DIMENSION SHEET

BAGE/INPUT - Wik OUTPUT
cl
142
D
{il cs
~ |
cu | |-
™ ]
PGL142-12
AWM/ INPUT o St /OUTRUT
(¥ 9 e W
I | i e
A (51}
| ca
12
ci
c4

SR/ Qutput Diameter

S @145 4-MEx25 B2:024 B85 ©110 T 142 148 240 145

@200 4-MLIx23 @35 B5 ©1143 & 180 1635 2555 30
e 2145 A-MBx25 P13922824 655 @110 11 130 1305 2825 18
@200 4-M1222 B35 81 Bl143 § 180 206 298 355

* Cl-CTE IR SRR R AR SRR E,

* £1-CTare motor {metric standard) specific dimensians, which could ke customised,




ATG REDUCER whiEisislisss

LiSHEEEN REDUCER PROFESSIONAL MANUFACTURER

ATG Big EES£H WWWITWATG.COM

PGLEFI

SMEERTEE / OUTLINE DIMENSION SHEET

PGLIS0-T

AR INPUT P SHEOUTPUT
180
= — “:I .
'_';. —1'
8 —+—=——ir g3
- | P H =l
| .
g
1D
- Bﬁ_‘__
PGL1RD-L2
AT INPUT V' s SR BV . W it/ OUTPUT
108 235
82 5 180
; =
|__B 70
T
& &1 Ity |
: I S 1]
[
| 0 | 4
i —
20

iR /Output Diameter

M12x1,75

i
|

LA SRR R TR E P R
“The input motor specific dimensions could be customised,




ATG REDUCER wustn% - slisrs

Ui EIENL  REDUCER PROFESSIONAL MANUFACTURER

ATG HIE HEREE WWW.ITWATG.COM

YMiZRTEZR / OUTLINE DIMENSION SHEET

PGL220-L1

A INPUT 45 SR /OUTPUT
138 185
20 105 20
- D &
= 1 .
] g -4+ ——————it &g
E = |J—---r‘ i | __j+ Iﬁ %"
__q_zJ 3 = p
D |
4230 L. 120
PGLZ20-L2
B0 INPUT EnhsEOUTRUT
415
138 nt
105 120
T ap 2
| ke
=l e a4 | SRS B HOE
=l
213
A
44412450 -
{8 HIBE /Output Diameter
2
Mi0xd 5P
(&
E |
1
A7506

A, S AL 52

s Sk R AMREEF R R EM,

*The input mator specific dimansions could be customised




ATG REDUCER mastn&dviises

TS EEN REDUCER PROFESSIONAL MANUFACTURER

ATG B URSIE WWWTWATGE.COM

e PLAMETARY GEARBOX WITH MOTOR MOUNTING INSTRUCTIONS {TERIEHN DT R RIBH

For General Type

. 2
WA EFENAEE BEBELNAEANT , &
HBEAHER  ENGEFN
SR  #E2E5HEE prifviiaie)
NzEZEERRTE. s
Checlk the motor and Take off the plug from the

bracket. Revolve the set
collar until the balt is
aligned with the hale.

MADEMORT |, MdAE
BiENHE,

Make sure the motor shaft size.
Choose the right bushing if necessary.

SHBEHERE  ENERE
EREhLE , ERRTRELS
EFHmEES.

As installing on flatted shaft, be

sure ta align the collet gap over
the flat and the set collar bolt
perpendicular te the flat,

gearbox size. Clean the
maunting surface.

MTBit LExr6e , 0
oW, E%EGER.

Remove the key from the
motor shaft. Mounting the
balance key if hecessary.

5
SEE DB EEDE SE SENAGCERERE
5 . SIEEEMNERYZE
e % . il N, LRI FRIA
SENREHE, ;

RITREELE,

Install gearbox and motar
vertically. Tighten the set
collar bolt with torque
wrench to specified toeque.

Tighten the mounting holts
in L= 4 order with torque
wrench to 5% specified
targue,

L EEhTENZ
HAE ., EELEAm
. BHANEFEE
B,

Tighten the mounting bolts
in 14 grder with torgue

wrench to specified
torgue.

HAELEE,

Put the plug back:




ATG REDUCER i isns

XiEEEEN REDUCER PROFESSIONAL MANUFACTURER
PGLER| AT EiE HBSE  WWW.TWATG.COM

B5iA%Z%&i%HA / MOTOR INSTALLATION INSTRUCTIONS

= — A sl SR« DE#INE
e AEMLRT | BEBSELZMERD BE100BLF HERN BE12.084 > HEHN
[mm] [Mm] [In-Ibs] [Nm] [In-Ibs] | [Mm] [In-1bs]

M3 x 0.5P 55 1.3 12 1.8 16 | 21 19
M4 x 0.7P 3 3 27 4.1 37 | 48 44
M5 x 0.8P 4 6.1 55 8.2 73 | 98 87
M6 x 1P : 5 % a8 14 124 17 151
M8 x 1,25 6 25 222 34 302 41 364
M10 x 1.5 | 8 49 434 67 504 | 80 709
M12 x 1.75P | 10 85 753 116 1028 139 1232
M14 x 2P ! 12 137 1214 186 1648 223 1976
M16 x 2P . 14 210 1860 286 2534 | 343 3038

L Oz 13 4: R~ RS f2iSH
AENES % ALY - e !
[mm] [mm] [minn] [Mm] [In-lbs]

B <12 M3 x 0.5P x BL 2.5 2.1 19
PGLAZ

i 4N = M3x0.5Px 8L 2.5 2.1 19

iR =19 M4 % 0.7P x 121 3 4.9 44
PGLED e

PrE 519 Md x 0.7P x 12L 3 4.9 44

i =24 M5 x 0.8P % 20L 4 9.8 87
PGLID

FUEAN <19 M4 x 0.7P x 12L 3 4,9 44

L 2E5 ) =35 M8 x 1.25P x 30L [ 41 364
PGL11S

B <24 M5 % 0.8P ¥ 20L 4 9.8 87

e <38 M10x 1.5P % 30L a2 &0 709
PGL142

piEaN) <35 M8 x1.25P % 30L & 41 364

=57 ) =50 M12 ®1.75P x 350 10 139 1232
PGL180

Wik <38 M10 x 1.5P x30L 8 &80 705

-1 <55 M16 x 2Px 40L 14 343 3038
PGL220

FUE <50 M12 %1,75P% 35L 10 139 1232

EiE  REWRELLARXT LER. ERRER . THEREDSEI EEENEZZ0% , LiERITR,




Wisdom Made

IN AT

Wisdom The Warld

ATGEIS SR=ELR

»
*

gH | X i iximliiR

ATG REDUCER

b L

g

L4 J

BEEFMHRNERA S

TalWan Jun¥i MACHINE & ELECTRIC CO., LTD.

it - GPmHEERERE995R

Add: No. 699 thick kamiora. Taichung
City District Road
Email: zks@twatg.com

WWW.TWATG.COM




